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WEST BENGAL STATE UNIVERSITY ﬂ)._;/
B.A./B.Sc. Honours 3rd Semester Examination, 2019 ”’,M\WI G '/‘f’%
ECOACORO7T-EcoNoMics (CC7)
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. &NfeE a7 547 A 7‘797"7 foeis Fea)
Candidates should answer in their own words VIR AT ST TN TS N Sy
and adhere to the word limit as practicable. T B!
All symbols are of usual significance.
1. Answer any five questions from the following: 2x5=10

Rfefe @-GIe 6 ek Sea wes

(@) Show that the set S = {(x, y)|x2 +y? <4} is a convex set.
A8 @, GG S = {(x,y)|x2 +y? <4} 93T FICSH G5 |

(b) Determine the nature of return to scale for the production function ¢ =10I°K .

TEAM SAFS g =10L2K BAMT ARRSTH -9 (Return to scale) 5wl 21 (ralts |
(c) State the “complementary slackness” theory of Linear Programming Problem.
T (AR ek -a AR FRET =4 o Rge wa@
(d) Why is “global optima” also “local optima”?
RIS AT S (ATt SR8 06 @ 2
(¢) What do you mean by two person zero Sum Game?
MR (ACERNG & *[+7) QNI (51N 00 & (qieait 2
(f) Check whether the following input-output system satisfy the Hawkins-Simon

condition.

Frraferfrs 2e[5-Tb={5 Towst 7 3 @ 2Rrei-sEmw ef e g R )
0-4 0-3 0-2
0-4 0.2 0.3
0-2 0-4 03

(8) Explain the nature of the time path y, =3 +1.
ANy, =3 +1-f7 21 i e

(h) What do you mean by Nash-Equilibrium in the context of game theory?
(TS OCG = SIS Fe7Ce T QI 2
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1 . 5X4 =
2, Answer any four questions from the following: 20
e @-cert 51af elvis Tea me:
(8) Given the demand and supply functions in a competitive market as, 243

gf =1200~6p, and g =2p,,. Find out the equilibrium price and quantity.
Explain the stability of the market.
b ST e BIRA 6 IRIGT TReeafE 201 WIFWs g/ =1200-6p,
AR g7 =2p,, | SR N @ SifFr e Fe1 AeicaE SR et ok e
(b) (i) Why is the knowledge of dual important in Linear Programming analysis? 2+3
R 2Nk SCemsa 07 (dual) 499N @ @yl 2
(ii) Find out the dual of the following Problem.
A TR 07 (dual) fidfar )
Max z=>5x + 6x,
Subjectto 2x, +3x,<5

3x+4x, <12
X —2x,26
x 20, x,>0
(¢) Consider a two person zero-sum game where 4 & B are the two player and 4’s 3+2
pay-off matrix is
B, B,
A4 1
4,12 3

Determine the optimal mixed strategies for each player and the value of the game.

<3 ZUfe /R e-amre oiom 4 aw B T (ARG R 493 (o5
WG z1

B, B,

A4 1

Az[z 3}
ﬁ%ﬁmmmﬁa-@mecmwﬁﬁmu

(d) Using Kuhn-Tucker conditions solve the following maximisatj

on problem: 5
Max: U=x.y
Subjectto  x+y<100
x<40
x,y20
Kuhn-Tucker *&i7et) 377 303 s ifezel st AL e
Max: U=xy
Subject to x+y<100
x<40
xX,y20
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(e) Consider the following 2 x 2 inter-industry input coefficient matrix for Lientief 5

s 0-4 0-1
Static Open model: [0'7 0. 6]' Suppose that the direct labour input coefficients

are (3, 2). Determine the equilibrium prices of the two commodities if the wage
rate is Rs. 10 per unit of labour.

a3 oM I& Frenibors wwetem oy ffiie 13 cvg R[ifkE sefs SoimE si=em

MG Reas=1 s [8:‘7‘ 8_'é] | T T, TR At e w7l (S, 2) 1 A elrer

G ST TG 10 Bil == 73 764 iy wiw fiew Fel
(f) What does Envelope Theorem indicate about the interpretation of the Lagrange 5

multipliers used in solving a utility maximising problem subject to Budget
constraint?

ACEG ACATE SARINS! TR TG TN (6 (@ el Qe 2T T
O Envelope 99 ©F & wieoif o w7 9

3. Answer any two questions from the following: 10x2 =20
fasfeie @-cic 7315 2tia Teq mies
(a) Write a short note on consumption possibility Locus in the Leontief Static Open 10
Model.

s 3 & e (ol T8IRA! @K B @b R B et

(b) Suppose the demand and supply functions for a particular commodity are as 545
follows:

¢ =a-bp(a,b>0) and ¢*=—c+dp(c,d>0). Find the Time Path of price and
interpret the different components of the expression you have derived.

X S0 I T SifEwl @ I ooy st
4" =a—bp(a,b>0) 9K ¢°=—c+dp(c,d>0) | VIR -+ i S0 8 (o
faife® expression-1oa ffeq ST oo foefy e

(¢) Using Linear Programming (LP) technique solve the following game (Zero Sum): 10

B1 BZ
A2 7}
A, 6 3

53 X1 Catoreea oioe AR SETS T T
Bl Bz

A127}
4, 6 3
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(d) (i) Prove that Minimax < Maximin.

3111

|
W

(ii) Consider the pay off matrix (4 & B two players):
B, B,

A1 5
A4, 6 4

Find the optimal strategies of the two players as well as the value of the game.

() @me 3@ e < syt
(i) RS - sifte Rwea 3@l (4 9R B 76 (JETAD):
Bl B2

A1 5
4, 6 4

TS (ARG I (e fdiael I e orioa =7 e el

4+6
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